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A @ A
A = (60 mm)(120 mm) = 7.200 mm® ® @
z = -30 mm
y = 60 mm
@ 9 19% ®
A = %w(eso mm)? = 2,827 mm?
4 xXr
r = — (60 mm) = 25.46 mm
37
7 = (120 mm) - %(60 mm) = 94.54 mm
@ o}z 1A
A= —%77(60 mm)? = -2,827 mm?
— 4
z = —— (60 mm) = -25.46 mm
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y = — (60 mm) = 25.46 mm
3
A = (7,200 mm?) + (2,827 mm?) + (2,827 mm?) = 7,200 mm?
S(zA) = (=30 mm)(7,200 mm? + (25.46 mm)(2,827 mm?)
+ (-25.46 mm)(-2,827 mm?) = -72,049 mm®
S(yA4) = (60 mm)(7,200 mm?) + (94.54 mm)(2,827 mm?)
+ (25.46 mm)(-2,827 mm?) = 627,289 mm?®
— Y (zA) — 72,049 mm?
X = = = -10.007
YA 7,200 mm? i
o - 3
Yy = Z(y4) _ 627,289 mrrzl =87.12 mm = centroid = (-10.01 mm, 87.1 mm)
YA 7,200 mm
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